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Reading Text

p

ol 225 2F5k= 2L K2f 0[ok7]>

S0l =207 4P| LI | ZEU0 L.
At first, blog was like journal of and for my own. At that time, there were not
many visitors.

20 FE O 22 ARRIZE O3l 0|07 |8 S2|BA HEA7 HOtHo .
But as | posted photos and travel stories of my trip to Europe, the number of
visitors increased.

Z2|5 HUjM LS SHe AIYSE 47|
There were people who sent me messages to ask questions:--

Of0t A|7t 275t AES0| 20| UAULE 2t
| guess they found the information | posted was interesting.
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AMESOH =832 2 & U0 A 7|02,
| was happy that | could help others.

JdefM d=4e=z odls A2 ot S22 2Y561H7| Ao,
So | started actively maintaining blog with travel theme. (=So | enthusiastically
began travel blog.)

24HE0|= A 2230 /s O AR 22 Z20kA e ST R
Last year | gathered (=selected) photos and stories from my blog and published a
book.

=21 Y20 Z0tot= HAsIHM = Hn -

Thanks to my blog, | can enjoy travelling and make money---
Me Y HESH ARO[

| am really happy (=lucky) person.
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Notes

o4& : trip

2275 : £27(blog) + -S(objective marker)

2Y5t= : 2Y5HI + -=(ending(relative clause; noun modifying))
RAILE K] : RA|LE M| + -2f(marker; of)

0|0f7| : story

e0le= : 22 + -0 (marker; at) + -=(marker; comparison)
=277t : 221 + -7Hsubjective marker)

8| : 2 + -Bt(marker; only) + -2|(marker; of)

UV UL L7+ Z(ChH(to be like) + -Qh(pre-ending(past tense)) + -0{
((ending(declarative)

= : A0 + -=(marker; comparison)

HHEZE 22} + -Z (marker; also)

719] : almost, nearly

Ao Q) + -RY(pre-ending(past tense)) + -0{ 2 (ending(declarative))
=g : but

Y HHO|M 1 - O + -0l M (marker; at/in)
2o #l(ChH + -2(ending(relative clause; noun modifying))

ARRI2} : AFRD + -2H(marker; and)

015:@ O|OF7|Z : O43H O|OF7| + -E(objective marker)
S2|HAM : 22|(C}) + -B M (connective; while ~ ing)
BER2}7F Rt + -7H(subjective marker)

[w{m]

OO - BHCH + -OfR|(Ch)(to become) + - (pre-ending(past tense)) + -0{2
ending(declarative))
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Z2|E : &A| + -E(objective marker)

BUAM : ELH(CEH + -0{AM(connective : and then)

228 5t=: A28 5HOH + -=(ending(relative clause; noun modifying))
AMZEE : At2 + -S(plural) + -=(marker; also)

M7 M7](CH + -2 (connective; and)

Otot : probably

M7t A + -7}t(subjective marker)
WSt AZHSHER + - (ending(relative clause; noun modifying))
HEE0|: A2 + -S(plural) + -0|(subjective marker)
AHOIUARALE B AO|AJ(CH+ -2 )(pre-ending(past tense)) + -Lt E(C}) (modal aux.(to
guess)) + -Ot2 (endmg(declaratlve))
NES %01|71| At + -S(plural) + -Of|H[(marker; to somebody)
28 =8 + -ZS(objective marker)
=5 9101/\# D (CH + -2 £ AT (modal aux.(can, be able to)) + -0{A| (connective;
because)
7|80 7|8 (ChH+ -2 (pre-ending(past tense)) + -0{ 2 (ending(declarative))
J2iM : that's why
HIHMoZ: actively
oS A2 ot : o3l + -2 FH 2 5HC}) (idiom(about)) + -L (ending(relative clause; noun
modifying))
=218 : 221 + -E(objective marker)
G5t7| A2 2ot (T + -7| AlAtSHE) (modal aux.(to start)) + - (pre-
ending(past tense)) + -0{ 2 (ending(declarative))
2HH0|l = : 2HE + -Of|(marker; in) + -=(marker; comparison)
A| : contracted form of *{2|
A + -2|(marker; of)
=230 Y22 + -0 Ues
=28 : 2 + -S(objective marker)
SOFA : 22(C}) + -OtM(connective; and then)
M 20+ -5 (marker; also)
ZISHO| R 2T5HC + - (pre-ending(past tense)) + -0{ 2 (ending(declarative))
£21 920 : 821 + &0/ (idiom(thanks to/ by virtue of))

Z0tst= : Z0}5HCTH + -=(ending(relative clause; noun modifying))
OfSHStHAM : OfSHSHC} + -B A (connective; while~ing)

=5 1 &+ -E(marker; also)

H0 (T} + -2 (connective; and)

A& A + -=(marker; exclusion)

Y really

=5t HESHL}) + - (ending(relative clause; noun modifying))
AH2H0[0|2 : AFZl + -0]0j|2 (ending (to be; declarative))



Comprehension Check-up
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Conversation
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7101 7| At2 ZE HZ[? 2ol 7tM g & 7HOof?
Ga-In: Are you going back to the dormitory? What are you going to do in your
room?

of[2f: QIE{LIEH 7Ok, O YL H|T5t1, S0 LI|E AT
Eric: Internet. Checking e-mail, writing journal on my blog---

710l 220 Y7|E M?
Ga-In: Do you write journal on your blog?

o2l . Ltz 72| Y L S 230 Y712 M. ARIE oA S22
Eric: Yup. | post daily journal on my blog almost every day.| post photos too.

7101 J12{™ CHE AZFS0| M EA| £ &0t Lk LY O|OF7|Lt ARRIZE CHE AIRS0| B
H Aleg----
Ga-In: Then other people will come and see. | don’t like others to see my story or
photos--

of2l: J2l? 23| Ly S20i| AFZS0| 20| M U =22 0l = 2 Z0t6l.
QIE{UlIO| A AtESStL 0|07 |5t A Lot 40| U=

Eric: Really? On the contrary, | like many people to visit my blog and read my
postings. It is really fun to talk with people online.
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Notes

7| AR 7| AL+ -2 (marker; to/ for)
Zr HX|? 0 7HLCH + -2 H(CH) (future tense) + -X|?(ending(for confirming))
ghof : gt + -0f| (marker; in/at)
7tM : ZH(CH) + -OFA (connective; and then)
st 7{0F? 1 SH(EE + -= A (CH(future tense) + -0F?(ending(plain style; interrogative))
CIE{uligh 7 OF : QIEUSH(EL) + -2 Z(Eh)(future tense) + -OF(ending(plain style;
declarative))
O|lHYLE : O|HY + -=(marker; also)
M3t HASHCT} + -1 (connective; and)
E270] : 221 + -0f|(marker; on)
U7\ - 7| + - (marker; also)
M M(CH + -2 (connective; and)
U5 Y7| + -E(objective marker)
M? M (L} + -0 (ending(plain style; interrogative))
& : yes (plain style)
Lt : L} + -=(marker; exclusion)
719| : almost
Of ! : everyday
L{ : contracted form of Lt2|(L} + -2|(marker; of))
AFRIE @ AFRL + - (marker; also)
RO A : & (C}) + -0{ M (connective; and then)
2|1 : 22|(C}) + - (connective; and)
J2{™ : then
Ct2 : different
AFEHEO| @ AFRE + - (plural) + -O| (subjective marker)
QtA : 2(CH) + -OtAM (connective; and then)
BA E|&OoF: E(CH + -A Z[(CF)(modal aux.(to become)) + -&O0F(ending(for reminding))
t . contracted form of Lt=
Lt + -=(marker; comparison)
O|OF7|L} : O|OFZ| + -Lt(marker; or)
AZIE  AFRL + -2 (objective marker)
HE A H(CH + -= A (expression(making noun phrase))
e &(ChH +-24(ending(because €connective))

Ol s alot

=8 : 2 + -2(objective marker)

A0 F= 4 SOtof: 2 (Ef) -0{ F(ChH(modal aux.(to do for someone)) + -= A
(contracted form of —= HE)

Z0t3)|: £0}t3HL}) + -04 (ending(plain style; declarative))
QIO A - CIE{ Ll + -Of A (marker; in/at)
AEHE ST AF2E + -S(plural) + -8t (marker; with)

0|0F7|38k= Al : O|OF7|SHCL) + -= Al( -= A (infinitive phrase as noun)+ -0| (subjective
marker)

dotLt(how) + X0 RL(CH) + -=H|(ending(because €connective))



Comprehension

1.08l2 E200)| Y7 E XD MTE 2282 . (T/F)
T

2. 7112 AHUOM AFS S AtFE XS Fotsli=. (T/F)
I.

g
FESHCt : to visit a blog M2 library
ARRI/22 22ICt: to post photos/stories A classroom
FA| - theme SHHAIGE : school cafeteria
LZ AL vistor 0§ : canteen, snack bar
A 2 hall, auditorium
=2 ALt to write a comment =4 palyground, stadium
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Ct : to surf the internet

F: to take a picture

C} : to check

) SIC} : to ask (a problem)
. to collect, to gather

C} : to publish

C} : to make/earn money
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© Explanations

gotLt -26|12/-- HI2/-=H 2
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1. €0t -2H2/- - He/-sHL

(1) 2 SUY0] 2 221 U= XA 20N LI F1AL S t AHESHCE

(2) 20l 2= EAVL ABLE 2LEH -2HI2 7fg-n- Ege2 L “L {27t E=C0
(3) ‘UL, glEret 2E SAte -2k Zgfsttt.

(4) A %o HEAIR SAL 25 “Q/A/A=H 22| HEYT} =Tt

-27} HC}/-v 7} BC}y/-Lt Bo}
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H|7t a0He Y2 S0 ZHUIO'O“-P 2.
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1. -27t 2C}/-v 7t 2op/-L 2Lt

(1) &oll 2= EAV A2 2LHEH “27t BVt €1, 2822 eUd - J7F 2047t
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(2) ‘UL, gleret 2 SAte “Lt 20Fet ettt

(3) AAHYE SEAIRt EM D& QWAL 2B =0t

(4) AL BRIC2 -2/2/8 A EtFe 59| 27t & 28240|11 F0fet 20{0|M 25
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A8 SMM)E 2HZE 25510 BAY If ALESIH= 0| Y20 =2 FL0{0l|A 0|
Molct



-7] Alztsict

18 St =l AL, of glE

20| 32| o4
212
ChUls &
ofo|7} £ 2
520| &

o
s

r

Hl
02 v 2 08
<

n AR ZHERYO|

1.-7] AJ2t5tCt

EA|-
27| A|2stch 2 Hatstol 2l
o) 7t 271 AIZHOI2. - SAt

L7t 291217] AIRHOIR. -

© Exercise

1. A: QB0 M AtEfS 2t 0|0k |5 7

2% AolRlof

L0t AHO| =t
L0t AHO| A=
012 Ao A=

1l w
I 0jo ol oo §

wN —
—_— ~— ~—
—

N
>
o =)
™
=
£Q N
rir N
>}‘_$

=2
H

2ee™

z0 02 o2t ot

i
2w
I to

|o mjo mjo
NNy

we =
=
M2
L2
fo |

[a—

HEN B3} §lo| OfZkof| BE=
ASHsIC

LIEILS E3H0|Ct,

U7} C9IR|7| AlRHRICH

HEALo| A20| vi2

T
kl

~

25| 2ot

-O/0{/o

—_

AEAL + -OF/0{/ AT}

3.AI0E A, 220 QLEBIR?
B:
N, A= # 22302
2) 4|, A LEE Y5} A2
oHo-|_|_‘_.
3) OtL| L, 7|=Atof|
[E2]

UL,

4. A BMN Al ST AR R?
B:

1) Ul, Aledo] EMN E 5Lt 22

2) 4, AldS 2 = Hol=.

3) 4,

sFe 7 Lot 242
[E2]



Writing
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